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The following table shows the percentage (%) distribution of number of doctors and number of female doctors

working in seven different cities A-G. Number of doctors working in all the seven cities 1s 2400 and the ratio
of male to female among them is 5:3. Based on the data in the table, answer the question.

City-wise Distribution of Doctors.

City Distribution (%)
g Doctors (%) Female Doctors (%2)

A 19 24

B 21 16

C 9 11

D 12 g

E 17 16

F 14 19

G 8

6
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A 19 24
B 21 16
C 9 11
D 12 g
E 17 16
F 14 19
G g 6

Number of female doctors is more than the average number of female doctors (taking all seven cities together)
in exactly cities.
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(1) 1
(2) 2
3) 3
(4) 4
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1) 1
(2) 2
3) 3
(4) 4

1[Option ID=25101] Question Description : general_paper_genarel paper_set 13_english_q1l




2[Option ID=25102]
3[Option ID=25103]
4[Option ID=25104]
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The following table shows the percentage (%) distribution of number of doctors and number of female doctors

working in seven different cities A-G. Number of doctors working in all the seven cities is 2400 and the ratio
of male to female among them 1s 5:3. Based on the data in the table, answer the question.

City-wise Distribution of Doctors.

City Distribution (%o}
g Doctors (%) Female Doctors (%2)

A 19 24

B 21 16

o 9 il

D 12 3

E 17 16

F 14 19

G 8

6
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TAoRUT (%)
R e (o) Hfean ffda® (%)
A 19 24
B 21 16
C 9 11
D 12 g
E 17 16
F 14 19
G 8 6

In which of the following cities is the number of male doctors less than the number of female doctors?

A= PRhanie
o g W

(1) 1
) 2
(3) 3
(4) 4
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1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=25105] Question Description : general_paper_genarel paper_set 13_english_q2
2[Option ID=25106]

3[Option ID=25107]
4[Option ID=25108]
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The following table shows the percentage (%) distribution of number of doctors and number of female doctors
working in seven different cities A-G. Number of doctors working in all the seven cities 1s 2400 and the ratio
of male to female among them is 5:3. Based on the data in the table, answer the question.

City-wise Distribution of Doctors.

City Distribution (%0)
g Doctors (%4) Female Doctors (%2)

A 19 24

B 21 16

¢ 9 1l

D 12 2

E 17 16

F 14 19

G 8

6
Fgfaiad arfae § T 3 el A-c ¥ ordvd ffeas! R ot kiews! 1 gen &1 ufad
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ferfdred ! o1 Yewar faaeu

TeRIT (%)
et e (24) Higel [dibdd (%)
A 19 24
B 21 16
C 9 11
D 12 g
E 17 16
F 14 19
G 8§ 6
In city A, the number of female doctors 1s % of the number of male doctors.
1. 90
2.96
3. 04
4. 80
1) 1
2) 2
(3) 3
4) 4
e¥ A H wigar Ribwe! o1 We gy Risds! o g & %% |
1.90
2.96
3.64
4. 80
(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=25109] Question Description : general_paper_genarel paper_set 13_english_q3
2[Option ID=25110]
3[Option ID=25111]
4[Option ID=25112]
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The following table shows the percentage (%) distribution of number of doctors and number of female doctors
working in seven different cities A-G. Number of doctors working in all the seven cities 1s 2400 and the ratio
of male to female among them is 5:3. Based on the data in the table, answer the question.

City-wise Distribution of Doctors.

City Distribution (%0)
g Doctors (%4) Female Doctors (%2)

A 19 24

B 21 16

¢ 9 1l

D 12 2

E 17 16

F 14 19

G 8

6
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a7 (%)
et e (24) Higel [dibdd (%)
A 19 24
B 21 16
C 9 11
D 12 g
E 17 16
F 14 19
G B 6

What is the difference between the average number of male doctors of cities A, B and C together and the
average number of male doctors of cities E, F and G together?

.48
.50
54
.56
(1 1
2 2
(3) 3
(4) 4
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(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=25113] Question Description : general_paper_genarel paper_set 13_english_q4
2[Option ID=25114]

3[Option ID=25115]
4[Option ID=25116]
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The following table shows the percentage (%) distribution of number of doctors and number of female doctors
working in seven different cities A-G. Number of doctors working in all the seven cities 1s 2400 and the ratio
of male to female among them is 5:3. Based on the data in the table, answer the question.

City-wise Distribution of Doctors.

City Distribution (%0)
g Doctors (%4) Female Doctors (%2)

A 19 24

B 21 16

¢ 9 1l

D 12 2

E 17 16

F 14 19

G 8

6
Fgfaiad arfae § T 3 el A-c ¥ ordvd ffeas! R ot kiews! 1 gen &1 ufad
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a7 (%)
et e (24) Higel [dibdd (%)
A 19 24
B 21 16
C 9 11
D 12 g
E 17 16
F 14 19
G B 6

What is the ratio of the number of female doctors in eity D to the number of male doctors in City B?

1.2:5
2. 1:5
3.3:5
4, 4:7
1) 1
(2) 2
(3) 3
(4) 4
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1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=25117] Question Description : general_paper_genarel paper_set 13_english_q5
2[Option ID=25118]

3[Option ID=25119]
4[Option ID=25120]
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Given below are two statements:

Statement-I : In learning, law of multiple response means an individual responds to a new situation on the
basis of the responses made by him in similar situations in the past.

Statement-II: In learning. law of analogy implies when an individual is confronted with a new situation, he
responds in a variety of ways before arriving at the correct response.

In the light of the above statements, choose the correct answer from the options given below:

. Both Statement I and Statement II are true.
. Both Statement I and Statement II are false.
. Staterment I is true but Statement II is false.
. Statement I is false but Statement IT is true.
1 1
2) 2
(3) 3
(4) 4

9 gl wyF U &

Y1 : HTH 1 aglay rfoar (a0 U fodl oafad &1 Yadra § 9l Ryfaal 8§ 3aat srihansii &
YR R s fRUfd ¥ gediR Sifima g |

Y 1 : ST T S Had &1 a1 [l oafda o1 =3 RUf 8 9mE1 §1H IR 3Hd el Sfohdl
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SURIGT HUF & ATl® 4, i (G0 T [dhedl § I 96! 3R &1 909 DIoI:
1. HUTI AR I SH FA €|
2. HYF 1R I SHT ST |

3. PYT 1 JA 8, AP HYT 11 T B
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=L

4, FUF 1 A B, AP S 1 T B
(1) 1
(2) 2
3) 3
4) 4
1[Option ID=25121] Question Description : general_paper_genarel paper_set 13_english_q6
2[Option ID=25122]

3[Option ID=25123]
4[Option ID=25124]
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QBID:13201007

In ASSURE model of learning, ABCD stands for well-stated learning objectives. What does 'C' stands for?

. Conditioner
. Conditions
. Creativity

. Confusion
(1) 1

(2) 2

3) 3

(4) 4

SHIETH & URAR Uiaey O TEiIS] g-aftld e & Soxdl &1 H9u® ¢ | 384 I [aa1 g ¢ :
1. SR
2. DT
3. fepufedict
4. PHGA

R R




(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=25125] Question Description : general_paper_genarel paper_set 13_english_q7
2[Option ID=25126]

3[Option ID=25127]
4[Option ID=25128]

Sl. No.8
QBID:13201008

The field of study concerned with the construction of thought processes, including remembering, problem
solving and decision-making is called:

. Cognitive development
. Pedagogy

. Epistemology

. Connectivism

(1) 1

(2) 2

3) 3

(4) 4

TR, JHE S 3R Fvfae afgd faer uftear et 3 Sefta sieag o1 87 seaar s

1. IS [
2. FRuememd
3. g
4. gy
1) 1
2) 2
3) 3
4) 4
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1[Option ID=25129] Question Description : general_paper_genarel paper_set 13_english_q8
2[Option ID=25130]
3[Option ID=25131]
4[Option ID=25132]

Sl. No.9
QBID:13201009

Given below are two statements:

Statement-I: The current SWAYAM platform has been developed by Ministry of Education and IIT, Delhi.
Statement-IT: SWAYAM is designed to achieve the five cardinal principles of education.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement [ and Statement II are correct.
2. Both Statement I and Statement II are incorrect.
3. Statement I is correct but Statement II is incorrect.
4, Statement I is incorrect but Statement II is correct,
(1) 1
2) 2
3) 3
(4) 4
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(1) 1
(2) 2
(3) 3
(4) 4
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1[Option ID=25133] Question Description : general_paper_genarel paper_set 13_english_q9
2[Option ID=25134]
3[Option ID=25135]
4[Option ID=25136]

Sl. No.10
QBID:13201010

Match List I with List IT :

LISTI
(Channels of SWAYAM (Subjiﬁg{_ere -
Prabha)
, o Social Science-3, Management, Library
A Chagnel 03 I |science, Information Science and related
" [PRABODH : P
subjects.
B Channel 04 - 1 Social science-1, Social and Behavioural
" |SAARASWAT " |sciences
C Channel 05 - 1 Social science-4, Law, Legal studies,
" PEABANDHAN " [Human rights and related subjects.
D Channel 06 : v Social science-2. Education, Psychology,
"~ [VIDHIK " [Home science and related subjects.

Choose the correct answer from the options given below:

. AL, B-IV, C-I, D-III
. A-IV, B-I, C-II, D-III
. A-IV, B-II, C-III, D-I
. AT, B-II, C-IV, D-I
1) 1
(2) 2
3) 3
(4) 4
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AT fa3-2, [,

D. [99d 06: fafte® n‘.%ﬁm-ﬁu‘a faqH 3R T

i U 7T fadedl § O ol 3R &1 999 Hifol

. A-IL, B-IV, C-I, D-III
. A-IV, B-I, C-II, D-IIT
. A-IV, B-II, C-III, D-I
. A-IIL, B-IL, C-IV, D-I
11
(2) 2
(3) 3
(4) 4
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1[Option ID=25137] Question Description : general_paper_genarel paper_set 13_english_q10
2[Option ID=25138]
3[Option ID=25139]
4[Option ID=25140]

Sl. No.11
QBID:13201011

One of the commonly used abbreviations in report writing by researchers is 'vide' which means.

. refer to

. example
. after

. against

P R

1) 1
(2) 2
3) 3
(4) 4
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1[Option ID=25141] Question Description : general_paper_genarel paper_set 13_english_q11
2[Option ID=25142]
3[Option ID=25143]
4[Option ID=25144]
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Given below are two statements:

Statement-I: Non-parametric tests are often more efficient compared to tests of significance or parametric
tests.

Statement-IT: Non-parametric tests can be applicable to ordinal or nominal scale data.
In the light of the above statements, choose the correct answer from the options given below:

. Both Statement I and Statement II are true.

. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false.
4. Statement I is false but Statement I is true.

(1) 1

(2) 2

3) 3

(4) 4

FH Sy feumu E:
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IQRIFT DY & el H, Al f4U T fdeed] & I gl 9ur o1 90+ I

1. HYA 1 AR I G S |
HUF TR G S ¢

3. PYT 1 9 &, A BYT 11 3T 5
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4, FYF 1 A B, TP A 1 T B
(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25145] Question Description : general_paper_genarel paper_set 13_english_q12
2[Option ID=25146]

3[Option ID=25147]
4[Option ID=25148]

Sl. No.13
QBID:13201013

Given below are two statements:
Statement-I: Ethical violations occur when researchers engage in plagiarism or falsifying data.

Statement-IT: A researcher cannot cite a well known and established fact without providing citation
(reference). otherwise it will be termed as unethical.

In the light of the above statements, choose the correct answer from the options given below:

. Both Statement I and Statement II are true.
. Both Statement I and Statement II are false.
. Statement I is true but Statement II is false.
. Statement I is false but Statement II is true,
(1) 1
(2) 2
3) 3
(4) 4

da L b
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JURIGT PYUF & ATdl® 4, i [GU T [dhedl O I 96! 3R &1 90 B I[olu:
1. HUTI AR I SHT FT g
2. HUT I AR I GHT ST G|

3, PYT 1 9 &, Al BYT 11 3T 5

4. YT A B, TP PUT 1 TA B
(1) 1
2) 2
(3) 3
(4) 4
1[Option ID=25149] Question Description : general_paper_genarel paper_set 13_english_q13
2[Option ID=25150]

3[Option ID=25151]
4[Option ID=25152]

Sl. No.14
QBID:13201014

An approach to research in which the investigator creates an environment similar to one of interest in order to
study behaviours in a realistic way. refers to:

1. Naturalistic observation
2. Simulation
3. Longitudinal research
4. Correlational research
(1) 1
(2) 2
(3) 3
(4) 4

MY P & TP FUNTH O PBlg S8l aRafad dild ¥ HdER - HLTH & 1 1 fhdl 3
37¥U UH gRay Fififa Frar 8, o foud defta @
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2. 330 (Regaer)
3.
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4. GEUEE WY

1[Option ID=25153] Question Description : general_paper_genarel paper_set 13_english_q14
2[Option ID=25154]
3[Option ID=25155]
4[Option ID=25156]
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Identify the rules that you would follow while designing questions for a questionnaire.

A. Avoid ambiguous terms in questions.
B. Avoid long questions.

C. Ask some leading questions.

D. Avoid double-barrelled questions.

E. Avoid very specific questions.

Choose the correct answer from the options given below:

A.Band C only
.B.Cand D only
. A, Band D only
.B. C and E only
(1) 1
(2) 2
(3) 3
(4) 4

S i & §R 1 Faigu forTet fordt ugrasdt 8 94l 1 -1 99 319 UTe- Sl |

A vyl H ggarif uef S 7= |
B. dd 9yl 9 g9

C. TS T8I UHl I gu

D. Sqd-a¥d Wl I g1

E. 9gd faf1y vyl 9 s=-1

- feu g fow el 7 € e Sugad SR 1 90 HifeE:

1. HAd A, B3R C
2. $ad B, C 3R D
3. $dd A, B IR D
4. $adAB,C IRE

11
) 2
3) 3
(4) 4
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1[Option ID=25157] Question Description : general_paper_genarel paper_set 13_english_q15
2[Option ID=25158]
3[Option ID=25159]
4[Option ID=25160]
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The Shannon and Weaver mathematical model of communication was based on a linear system of:

1. Print communication
2. Electronic communication
3. New communication
4, Traditional communication
(1) 1
2) 2
3) 3
(4) 4

T4 3R diar nftrdta oo Feef Fgifed & @ foge! Y& voe! W enufid o 2

1. EU gER
2. SR AR
3, I HER
4. TRRATT TER
(1) 1
(2) 2




(3) 3
(4) 4

1[Option ID=25161] Question Description : general_paper_genarel paper_set 13_english_q16
2[Option ID=25162]
3[Option ID=25163]
4[Option ID=25164]

Sl. No.17
QBID:13201017

Real time communication media are known as:

. Vertical media

. Asynchronous media
. Synchronous media

. Grapevine media

R T O

1 1
) 2
3) 3
(4) 4

frgd eIy Y9 ATH Sedld & -

1. JeaER H1H
2. HGIA® H1eIH
3. JHSIcID HIe0H
4. SHYATE T1H
1
(2) 2
(3) 3
(4) 4

1[Option ID=25165] Question Description : general_paper_genarel paper_set 13_english_q17
2[Option ID=25166]
3[Option ID=25167]
4[Option ID=25168]
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The simplified communication model created by Wilbur Schramm initially had the elements of :

A. An encoding source

B. A noise breaker

C. A noise marker

D. A message for transmission

E. A decoder to decode the message.

Choose the correct answer from the options given below:

A.B, Conly
.B.C,D only
.C.D, E only
.A,D.E only
(1) 1
2) 2
(3) 3
(4) 4

da L b
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A. PClG B DI
B. €l 1o

c. aH [E®
D. IR & fo7u I39

E. 949 & fdpe- g [apies
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1[Option ID=25169] Question Description : general_paper_genarel paper_set 13_english_q18
2[Option ID=25170]
3[Option ID=25171]
4[Option ID=25172]

Sl. No.19
QBID:13201019

Which of the following are referred to as net ideologists?

A. Harold Innis

B. Marshall McLuhan
C. Algore

D. Nicholas Negroponte
E. Manuel Castells

Choose the correct answer from the options given below:

A.B. Conly
.B. C. D only
.C.D, E only
.A.D.E only
1) 1
(2) 2
3) 3
(4) 4

frgifea o 9 g Te Ragiqare serama g
A Bl 5y

B. ARG Hade
C. AT

D. H& ey Audie
E i@ aew

i feu e fasedl © § ¥l SR 9T
1.Had A, B, C
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1[Option ID=25173] Question Description : general_paper_genarel paper_set 13_english_q19
2[Option ID=25174]
3[Option ID=25175]
4[Option ID=25176]

Sl. No.20
QBID:13201020

Given below are two statements:

Staterment-I: New communication media have made the privatization of public spaces possible.
Statement-IT: The above tendency has led to the emergence of cvber sphere in the world.

In the light of the above statements, choose the correct answer from the options given below:

. Both Statement [ and Statement II are true.
. Both Statement I and Statement II are false.
. Statement I is true but Statement II is false.
. Statement I 1s false but Statement II is true.

(1) 1
(2) 2
3) 3
(4) 4

GEEERIERC R
HYF 1 : U TR HI9H & HRUI GIdol-1d T BT oo S4d gl uang |
Y 11 : IS Wai P IRUTHEEY fay o e 87 SEgaH g3 ¢ |
SWRIT DY & Said H, - 3T 7Y fdw i § 3 961 SR &1 99 DI
1. BYA 1 3R 11 3 TE B
HYA SR I G Tad g
3. HYT 1 Hel 8. A HY= 11 7ad ol
4. DY 1T B, Wich DY 11 981 8

11
) 2
3) 3
(4) 4
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1[Option ID=25177] Question Description : general_paper_genarel paper_set 13_english_q20
2[Option ID=25178]
3[Option ID=25179]
4[Option ID=25180]

Sl. No.21
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A man lends out an amount of Rs.25,000 into two parts. The first part of the money is lent out at 8% simple
interest and the second part of the money is lent out at 8.5% simple interest. If total annual income of the man
18 R.2031.25, then find how much money is lent out at the rate of 8.5% ?

Rs. 9,000
Rs. 15,000
Rs. 18,750
Rs. 6,250

LD

(1) 1
(2) 2
3) 3
(4) 4




Pl fad 25,000 UL HI YR P <l B H IUR AT | &R & Ued fex Dl 8% P IR AT
B IR R IR YRR F IR TR B 8.5% S TYRUI TS P1 X R IR fGmonar € | o afdg =t
P dId 317 2031.25 TAU G dl 8.5% BI &2 U SR Al 741 ¢RI 1A DI |

. 9000 ¥UU
. 15000 %94
. 18750 %94
. 6250 ¥UU
1) 1
(2) 2
(3) 3
(4) 4

e e kD

1[Option ID=25181]
2[Option ID=25182]
3[Option ID=25183]
4[Option ID=25184]

Question Description : general_paper_genarel paper_set 13_english_q21

Sl. No.22
QBID:13201022

In a certain coded language the word MEDICINE is called as: EOJDJEFM. How the word COMPUTER will
be coded in the same coded language?

. RFVUNQPC
. RFUVQNPC
. CPNQVUFR
. CPQNUVFR
1
) 2
(3) 3
(4) 4

B T o

fep it Higd Boag

Y191 & MEDICINE &I EOIDJEFM & 30 8 $eaS [bal Sl § | 7§ COMPUTER

Vg B I UHR I HeaG HI o arcll U H H Heas (gl S ?

. RFVUNQPC
. RFUVQNPC
. CPNQVUFR
. CPQNUVFR
11
(2) 2
(3) 3
(4) 4

[

=L

1[Option ID=25185]
2[Option ID=25186]
3[Option ID=25187]
4[Option ID=25188]

Question Description : general_paper_genarel paper_set 13_english_q22

Sl. No.23
QBID:13201023

The sum of first n even natural numbers is 1560. Find the value of n.

B R
[ I O I I
oo D MDD o

(1) 1
(2) 2
(3) 3
(4) 4




TYUH 1 TH WG ae ATl &1 TIHd 1560 § | o 1 HF J1d ST |

1.41
2.39
.40
.38
11
) 2
3) 3
(4) 4

e VY

1[Option ID=25189] Question Description : general_paper_genarel paper_set 13_english_q23
2[Option ID=25190]
3[Option ID=25191]
4[Option ID=25192]

Sl. No.24
QBID:13201024

In a two digit number, if it is known that the digit at the unit's place in the number exceeds the digit at the ten's
place by 2 and that the product of the given number and the sum of the digits of the number is 280. Find the

number.

24
46
35
53

b B

= W

1) 1
(2) 2
3) 3
(4) 4

ol & 3@ B! S 1, I 6 T1d & 1 SPls & R B Gl agls U S I@dT 4 of 3@ § iRl
Tl ERET SR G S & Sidhl & TN I U 280 8, d1 a8 Sl J1d BT |

24
46
.35
53

Forka

:L‘.Ln

(1) 1

2) 2

(3) 3

(4) 4

1[Option ID=25193] Question Description : general_paper_genarel paper_set 13_english_q24
2[Option ID=25194]

3[Option ID=25195]
4[Option ID=25196]

Sl. No.25
QBID:13201025

Sum of the cost price of two articles A and B is Rs.26,000. Both the articles are sold at a profit of 20% and
40%, respectively. However, the selling price of the two articles remains the same. Find the difference in the

cost price of A and B.

Rs. 2,500
Rs. 2,000
Rs. 1,000
Rs. 3,000

R

1) 1
(2) 2
3) 3
(4) 4




&l aegsfl A 3R B & QNTd T BT A 26000 TUU 8 | HI G531 &1 PHRL: 20% 3R 40% & 1y W &4l
mag,mﬁﬁwﬁmﬁﬁwﬁm% | A 3R B & TN ged § 3R 1 [1d BT |

. 2500 YU
2000 39U
. 1000 YT
. 3000 YT
1) 1
) 2
(3) 3
4) a

L

1[Option ID=25197] Question Description : general_paper_genarel paper_set 13_english_q25
2[Option ID=25198]
3[Option ID=25199]
4[Option ID=25200]

Sl. No.26
QBID:13201026

An informal fallacy where something is assumed as a fact because the contrary of that is not yet proven to be
true is called:

. Begging the question
Appeal to Ignorance

. Complex Question

. Red Herring

1 1

(2) 2

3) 3

(4) 4

TS FTHING 3, ofet ot I &1 U 9 & 39 8 5111 911 & adife 391 [auiig o 9% I8! fie
Tel G &, S| &1 el Al § ?

SIHTHTAT

RSP gfad
. BAuH

4.¥s 8l (Red Herring)
(1) 1
(2) 2
3) 3
(4) 4

b =

e Taa

L

1[Option ID=25201] Question Description : general_paper_genarel paper_set 13_english_q26
2[Option ID=25202]
3[Option ID=25203]
4[Option ID=25204]

Sl. No.27
QBID:13201027

Which of the following propositions are logically equivalent?

A. Some men are arrogant human beings.

B. Some non-arrogant human beings are not non-men.
C. Some men are not non-arrogant human beings.

D. Some arrogant human beings are men.

Choose the most appropriate answer from the options given below:

.B and D only
A and C only
. A, Band C only
A, Cand D only

1) 1
(2) 2

B




(3) 3
(4) 4

fafarad § 9 S vl dfee 9 8§ 99de § 2

A 7T TG E |

?ﬁwwhwaﬁ%
c @Wﬁ?%ﬂv‘rﬁ TR |
D. D% PRI AT BUE |

4 fau e faeedl # ¥ gad Iugad SR &1 99 Bifoie:

1.%Hdd B AR D
2. FaAA3MRC
3. PAAA, B AR C
4. HATA, C ARD

1) 1

@ 2

3) 3

(4) 4

1[Option ID=25205] Question Description : general_paper_genarel paper_set 13_english_q27
2[Option ID=25206]
3[Option ID=25207]
4[Option ID=25208]

Sl. No.28
QBID:13201028

If the statement 'some cricketers are fast bowlers' is given as false then which of the following statements
could be immediately inferred to be false?

All ericketers are fast bowlers.

No cricketers are fast bowlers.

Some cricketers are not fast bowlers.

Some non-fast bowlers are not non-cricketers.

R

(1) 1
(2) 2
(3) 3
(4) 4

I ST HY - T fbdpe ATt A Tea & &1 Tad & =9 § femn mar § O FafefEa 3 3 fa wue
& TAd G DI dleb1ieie U 4 A a1 o 9l § 2

1. g1ff fpahe faarst 9o Tigai @ |
2. 315 off fpdpe st oo Heaw 7l © |
3. P b fAAS] 09 figaa 51 § |
4, PT IR-A Tear IR-hde A 781 & |
1) 1
) 2
3) 3
(4) 4

1[Option ID=25209] Question Description : general_paper_genarel paper_set 13_english_q28
2[Option ID=25210]
3[Option ID=25211]
4[Option ID=25212]

Sl. No.29
QBID:13201029




Which of the following statements are so related that they cannot both be true, although both may be false?

A. All sports persons are athletes.

B. No sports persons are athletes.

C. Some sports persons are athletes.

D. Some sports persons are not athletes.

Choose the most appropriate answer from the options given below:

.Aand B only
. Cand D only
.Aand D only
. B and C only
1 1
2) 2
(3) 3
(4) 4

fFofafad ¥ 9 o T Sy 59 0e Iafid ¢ {6 3 2F1 9ol 761 81 9%d, gaid =i 7od 8l IPd & 2

A i faars! vydiica § |

B. @i it faaet vydiic 781 ¢ |
. o faamst tudie § |

D. $© faars! tydie 781 § |

= feu e faoodl & 9 99 Sugad SR S 999 ST

B

1[Option ID=25213] Question Description : general_paper_genarel paper_set 13_english_q29
2[Option ID=25214]
3[Option ID=25215]
4[Option ID=25216]

Sl. No.30
QBID:13201030

According to classical Indian school of logic (Nyaya) which of the following steps of inference (anumana)
corresponds to Upanaya (application of the universal concomitance to the presented case)?

1. Socrates is mortal.
2. Because he i3 a man.
3. Whoever is a man is a mortal, e.g. Plato.
4. Socrates iz a man who is invariably a mortal.
1) 1
(2) 2
3) 3
(4) 4

YR YA TR 0 (M) & HHR FHH &1 HafiEd ¥ 3 =41 =0 3UT (W (67 1Y
T & Ui SoyIHS Fgafid &1 ST & 98 2

1. GBI AT |

2. i a8 A9 § |

3. 51 PIg HI H90 B, 98 1R . O - Wil |

4. gHId U 099§, ol FRUAIG SO ARG |
1) 1
2 2




(3) 3
(4) 4

1[Option ID=25217] Question Description : general_paper_genarel paper_set 13_english_q30
2[Option ID=25218]
3[Option ID=25219]
4[Option ID=25220]

Sl. No.31
QBID:13201031

In ICT. which one of the following pairs of acronyms and its expansion is incompatible?

.csv - Comma Separated Variables
1tf - Rich Text Format

.pdf - Portable Document Format

png - Portable Network Graphics

B R

1 1
) 2
3) 3
(4) 4

St Frofefad # 9 oiH-a7 ufkaul 3R SU% TR &1 gm sRimd & 2

csv - DBIH YIS dRUEE
1tf - A 2o BRae

a . VRN
pdf - Jicqd STagHe BIRHT

.png-mwm

da L b2

(1) 1

(2) 2

3) 3

4) 4

1[Option ID=25221] Question Description : general_paper_genarel paper_set 13_english_q31
2[Option ID=25222]

3[Option ID=25223]
4[Option ID=25224]

Sl. No.32
QBID:13201032

Identify the correct order of the words A-D given below to complete the following sentences about College
Registration Systems: 1s a type of registration system that uses finger prints or retina scans to register
students. A type of registration that uses a form that has been completed with a pencil and is then scanned by a
machine after being completed is called registration. A tag that uses microchips and radio signals worn
by all students that registers them when they enter the classroom is called registration. are made
of plastic and contain a chip that can be swiped through a machine to register the student.

A. Smart Cards
B. OMR

C. Biometric
D.RFID

Choose the correct answer from the options given below:
1LA,B.D.C
5

.B.C,
DA,
.C,B,

0N e

D
.B
A

e VT

(1) 1
(2) 2
(3) 3
(4) 4




Heldeer-Yeiiad Yol & aR & FafiRad &y @e) ®1 9ol &34 gq 414 13U 7T 5] A-D & Tel
Y B UgA ;

Ui YT &1 U6 WK § ol [aenfial & gofte §q SRIfesTal et e w6 o &1 wanT
Rl © | Uolig 1 US UHR S Ud U BTH &1 39 (501 Sl § o7 Uie 9 9_1 WRI 7™ 8ldl o
SR Ul R O & 918 A9 gRI WA [PaT ol g a1 a8 ol dednd ¢ | U@ o fores i

TT GRT 41T ATghifeT SR ISai faud & UaiT ¥ 9% Ueiig- gidl & old d ®al § Uap 8id &,
T8 Ul dodidic | @IRe® B &1 ol © forad U fag STelt 141 gl § SR ot
faemdt & Usiioe gq o=l & T1e9d ¥ Wigy a1 o 9$di § |

A FE BIS

B. 3THMR
c. 9[EleH
D. IRTHAS Sl

= fou U fasedl © 9§ T61 IR o1 98- Hifere:

W nw
n»o
=l v Hw le)

el Sl
Nowp

(1) 1

(2) 2

3) 3

4) 4

1[Option ID=25225] Question Description : general_paper_genarel paper_set 13_english_q32
2[Option ID=25226]

3[Option ID=25227]
4[Option ID=25228]

Sl. No.33
QBID:13201033

Given below are two statements: (1 KB = 1024 bytes)

Statement-I: 0.2 terabytes (TB) is equal to 204.8 gigabytes (GB)

Statement-II: 1 petabyte (PB) is equal to 2°° bits.
In the light of the above statements, choose the correct answer from the options given below:

. Both Statement I and Statement II are true.
. Both Statement I and Statement II are false.
. Statement I is true but Statement II is false.
. Statement I 1s false but Statement II is true.

1)1
(2) 2
(3) 3
(4) 4

e




19 €1 $Y AU Y §: (1 KB = 1024 SI5cH)
YT : 0.2 TIEISE (SIaT), 204.8 THMETSE (Sie) & RER B 6 |
FYTII : 1 Uerarse (diah), 25 feeq & Rar garg |
SR HUA & Hdld |, 41d 30 MU [ddwedl & I Tl IuR &l 904 Sl
1. HYA T 3R 11 3 9 g
2. HYF 1 3R 11 GHT S
3. HYT 1 9d g, Al BY 11 AT 5

4. YT AT 8, Al FUT 1 FA 8
(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25229] Question Description : general_paper_genarel paper_set 13_english_q33
2[Option ID=25230]

3[Option ID=25231]
4[Option ID=25232]

Sl. No.34
QBID:13201034

Which of the following statements are true?

A. WWW is a collection of multimedia web pages stored on a website.
B. URLs specify the location of all web pages.
C. Web resources are accessed by Windows Operating System.

Choose the correct answer from the options given below:

1. A and B only
2. Aand C only
3.B and C only
4. A Band C

1) 1

(2) 2

(3) 3

(4) 4

fFafaiEd H-3 YT HE € 2

A Www 5t deage W 9ufgd Aecitiiear 3§ Uoll &1 U6 998 & |
B. URL 9+ 39 Usil o1 sraffufa & fafifey sxare |
C. fdei SfRfeT e Y g TUA W BIa € |

- feu g fawedl 7 € a9 Sugad SR 1 90 HifeE:

1. %ad A 3R B
FadARC
HadB R C
4.A.B3RC
1 1
() 2
(3) 3
(4) 4

LFVRR B

1[Option ID=25233] Question Description : general_paper_genarel paper_set 13_english_q34
2[Option ID=25234]
3[Option ID=25235]
4[Option ID=25236]
|




Sl. No.35
QBID:13201035

Match List I with List IT

LISTI

(Storage Device or LIS'—F I_[
Media) (Description)

Non-volatile memory that can only be read
from and not written to

Optical storage media that allows very high
B_| 85D IT [storage capacity by using blue/violet lazer
technology.

Volatile memory that stores data, programs, and
C_|ROM III. [the parts of the operating system that are
currently in use.

A | Blue-ray disc jH

Device that stores data by controlling the
D |RAM IV, jmovement of electrons within a microchip; there
are no moving parts.

Choose the correct answer from the options given below:

AL B-IV, C-II, D-III
A-III, B-1, C-IV, D-II
A-IVB-ILC-I, D-ITI

A-II, B-IV, C-1, D-III

b =

e L

1) 1
(2) 2
3) 3
(4) 4

el 1 Q1Y g1 11 B BT B -

ST
MR- HAR] ford dae Ugl ol

A I TEw L [l g R 34 R o 187 o
[ |
UHIRID HSRUI (3P dd [Sdi5H)
HIEH ¥ &) dRIciE ToR ddicb]
T U e Sgd SHTU® HSR
&HdT UTtd &l STl g |
R AR Sl gdqH H W
C. ROM I11. [STeT, Ui 3R oRieT e &
HIT BT HSRU B & |
dE Tiad Sff fbdll Agie fsad
e o [PTE S @rfian) fewan F6 &ld

== ' [6. 3 SciagHl @1 71fa & FafEa
@3d §U SIE] &1 T8 Pl & |

= fou 0 fawedl | ¥ gl 3R &1 994 Sifeiu

. A-I, B-IV, C-II, D-IIT
. A1, B-I, C-IV, D-II
. A-IV, B-II, C-I, D-III
. AL, B-IV, C-I, D-III
11
(2) 2
(3) 3
(4) 4

B. |SSD II.

b —

e s

1[Option ID=25237] Question Description : general_paper_genarel paper_set 13_english_q35
2[Option ID=25238]
3[Option ID=25239]
4[Option ID=25240]




Sl. No.36
QBID:13201036

How many national missions are there in the National Action Plan on climate change?

R
MDD ] O

1) 1
(2) 2
(3) 3
(4) 4

SRy URad Sa et AP SR die ¥ fead g iR g

s e
MO @0 0 O

(1) 1
(2) 2

(3) 3

(4) 4

1[Option ID=25241] Question Description : general_paper_genarel paper_set 13_english_q36
2[Option ID=25242]

3[Option ID=25243]
4[Option ID=25244]

Sl. No.37
QBID:13201037

Given below are two statements:

Statement-I: Hydro chlorofluorocarbons (HCFCs) were introduced as ozone-safe replacement for
chlorofluorocarbons (CFCs)

Statement-IT: Hydro chlorofluorocarbons (HCFCs) do not contribute to green house warming.
In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement IT are correct.

. Both Statement I and Statement II are incorrect.

. Statement I is correct but Statement II 1s incorrect.
. Statement I 1s incorrect but Statement II is correct.

1) 1
(2) 2
(3) 3
(4) 4

4 Sy feumu §:

FYT 1 : SRS IFARIRRIBTE! (TIHUEH) B FARIGRIBTSH! (FUHH & ol Tad Hioigs] &
U T UK far o |

O

FYF 1 : TS5 FARIKRIPIa (TIHIUH) UISY-1g d19- § S¥eH g1 & ¢ |
SIRITT HYU & 3HTeilep H, 1= fGu Y f[deeul & 4 969 Iugad SR &1 99 HIeIU:
1. FYF 1 3R 11 5T et €1
2. PYA 3R 11 3 TTad &
3. BYT 1 Te! 8. Afdp- HU 11 7T1ad 8l
4. YT 17T0d &, Al DY 11 Tl 8

11




(2) 2

3) 3

(4) 4

1[Option ID=25245] Question Description : general_paper_genarel paper_set 13_english_q37
2[Option ID=25246]

3[Option ID=25247]
4[Option ID=25248]

Sl. No.38
QBID:13201038

Which of the following play a role during formation of photochemical smog?

A. NO, (Nitrogen dioxide)

B. Black Carbon

C. Sun light

D. VOCs (Volatile Organic Compounds)
E. CO (Carbon monoxide)

Choose the correct answer from the options given below:

A, B and C only
A, Cand D only
.A.Dand E only
.B.C,Dand E only
1) 1

() 2

3) 3

(4) 4

BT D YH DIex & &=+ 3 F9 T H foa! UHP1 il § 2

A.NO, (FITSCISH STgHTHES)
B. &1 Pl
C. i &1 uS

D. VOCs (QI9=Nd 9ia i)

E. CO (PTa- THIHTHES)
1= fqu T faeedl & € Ggl 3R &1 9+ Sifoiw:

1. HATA, B AR C
2. HATA, C 3IRD
3. PAd A, D ARE
4. $GAB,C, D 3RE

1

() 2

@) 3

(4) 4

1[Option ID=25249] Question Description : general_paper_genarel paper_set 13_english_q38
2[Option ID=25250]
3[Option ID=25251]
4[Option ID=25252]

Sl. No.39
QBID:13201039

In which of the following types of electricity power plants, turbines are not required?

. Geothermal
. Nuclear

. Hydro

. Solar

(1) 1

(2) 2

(3) 3

(4) 4

i T b




Fafafad O ¥ 59 yoR & [degd Soll 9041 ¥ cralgl &1 siawaddl 76l sl 6 2
1. Ydrdig
BURCH B

g ko

. oldl
1. 9%
(1) 1
) 2
(3) 3
(4) 4

s

1[Option ID=25253] Question Description : general_paper_genarel paper_set 13_english_q39
2[Option ID=25254]
3[Option ID=25255]
4[Option ID=25256]

Sl. No.40
QBID:13201040

Given below are two statements: one is labelled Assertion A and other is labelled as Reason R.

Assertion-A : Rise in water temperature from normal levels, due to thermal pollution, can adversely affect
water quality and aquatic life.

Reason-R : Oxygen solubility in water increases as temperature increases.
In the light of the above statements, choose the most appropriate answer from the options given below:

. Both A and R are correct and R is the correct explanation of A.

. Both A and R are correct but R is NOT the correct explanation of A.
3. A is correct but R is not correct.
4. A is not correet but R is correct.

1) 1

(2) 2

3) 3

(4) 4

9 3 FY= [T U & U MDY (Assertion A) T T 1 R8T © 1 GHRT 39S PRI (Reason R) &
Fq U

b =

SfHGYH A AT HENUI S DRV STA & AT BT GHID &R Y 961 5dl H1 [Ural R Sty sia
R yfdpd THTa ST IHhal ¢ |

FRUIR : d99H H fg & I oa § efiefioq & gaaiaar 3 gfS gt @ |
SWRIGd B & e H, =i f3u U fdeedl § ¥ 99 Sugdd 9wk &1 99 BT |

. A IR R & T8 € SR R, AT TS R B
AR REHI TE €, AT R, A T TS AT TSI B
. A9El g Afd R 98T 7T B

4 AT T e AR TSI B

1 1
) 2
(3) 3
(4) 4

[

LF¥]

1[Option ID=25257] Question Description : general_paper_genarel paper_set 13_english_q40
2[Option ID=25258]
3[Option ID=25259]
4[Option ID=25260]

Sl. No.41
QBID:13201041




University of Mithila was famous for

A Astronomy

B. Nyaya Sutra

C. Archacology

D. Logical sciences
E. Medicine

Choose the most appropriate answer from the options given below:

.Aand B only
.B and D only
.Aand C only
.D and E only
(1) 1
(2) 2
(3) 3
(4) 4

ferfarer faufaemea fead fag ufdie ur 2

A. @7 fagm

B.Wm
C. XA -
THIRE

D.
E. HTGfasH
- feu g fow el 7 € e Sugad SR 1 90 HifeE:

1. %ad A 3R B
2. Had B 3R D
3. Pad A AR C
4.$aAD ARE

1 1

) 2

@3) 3

(4) 4

[N PV N

1[Option ID=25261] Question Description : general_paper_genarel paper_set 13_english_q41
2[Option ID=25262]
3[Option ID=25263]
4[Option ID=25264]

Sl. No.42
QBID:13201042
By . all Higher Education Institutions (HEIs) shall aim to become multidisciplinary institutions and

shall aim to have larger student enrolments as per NEP 2020, recommendations.

Bk
h O O Lh

1) 1
(2) 2
(3) 3
(4) 4

ST 121 A, 2020 T 1 71g Sl & AR dF Tyt =R e el (Tas ) &1 a6
g (! Gxur o gRoid §1F1 8 auT f[9eiial & amie ¥ 9gd Sifts gis o3 e |

2035
2030
2040
. 2025

(1) 1

o ke

= W




(2) 2

3) 3

(4) 4

1[Option ID=25265] Question Description : general_paper_genarel paper_set 13_english_q42
2[Option ID=25266]

3[Option ID=25267]
4[Option ID=25268]

Sl. No.43
QBID:13201043

In 1904, who was the moving force behind the enactment of the Indian Universities Act which intended to introduce radical
changes into some of the existing universities in colonial India ?

1. Lord Canning
2. Lord Mountbatten
3. Lord Curzon
4. Lord Linlithgow
1 1
2) 2
(3) 3
(4) 4

ay 1004 § YR« fayfaermem sffan & sftfggs § fFaifed 0 3 o ge IR o forgeT smem
HIIFaRs YRd & $o faemm fayfaemedl  siege uRad- Je-=RIMTd S o7 2

1, A BT
2. @IS Hideded
3. 1S B
4. @re feiferm
1 1
) 2
3) 3
(4) 4

1[Option ID=25269] Question Description : general_paper_genarel paper_set 13_english_q43
2[Option ID=25270]
3[Option ID=25271]
4[Option ID=25272]

Sl. No.44
QBID:13201044

One of the regional centers of UGC is situated in which of the following states?

. Punjab

. Rajasthan
. Orissa

. Assam
(1) 1

(2) 2

(3) 3

(4) 4

fayfaee SMaM M o1 U@ &g o= Faifeaf apurm d fRa e o

EEIC]
TSR
SRR
&

B

O

(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=25273] Question Description : general_paper_genarel paper_set 13_english_q44
2[Option ID=25274]




3[Option ID=25275]
4[Option ID=25276]

Sl. No.45
QBID:13201045

In 1937, Gandhiji evolved a scheme popularly known as the Wardha Scheme of Basic National Education. In
order to implement the recommendation of Wardha Scheme, a committee was set up under the Chairmanship

of:

. M.K. Gandhi
.B.G. Kher

. Zakir Hussain
A K. Azad
(1) 1

(2) 2

3) 3

(4) 4

Ty 1037 T ST 7 Te Wi [doiaa 31 of 94 W1 5 §R® 130 (e e- & A1 4 [T © |
gyl Wi ot xgfadl & saitaad g Faifed 4 9 feue! siorear § ue 9ifd 1fea &1 s o4t 2

1. TH. &, Tl
2.9 oL W
3. SR g
4. Q. . 3ollg

1) 1

() 2

(3) 3

(4) 4

da L3 b

1[Option ID=25277] Question Description : general_paper_genarel paper_set 13_english_q45
2[Option ID=25278]
3[Option ID=25279]
4[Option ID=25280]

Sl. No.46
QBID:13201046




Read the following passage and answer the question.

In both rich and poor countries, native or indigenous people are generally the least powerful. most neglected
groups in the world. Typically descendants of the original inhabitants of an area taken over by more powerful
outsiders, they are distinet from their country's dominant language. culture, religion, and racial communities.
Of the world's nearly 6.000 recognized cultures, 5,000 are indigenous ones that account for only about 10
percent of the total world population. In many countries, traditional caste systems, discriminatory laws,
economics, or prejudice repress indigenous people. Their unique cultures are disappearing, along with
biological diversity as natural habitats are destroyed to satisfy industrialized world appetites for resources.
Traditional ways of life are disrupted further by dominant Western culture sweeping around the globe.

At least half of the world's 6,000 distinct languages are dying because they are no longer taught to children.
When the last few elders who still speak the language die. so will the culture that was its origin. Lost with
those cultures will be a rich repertoire of knowledge about nature and a keen understanding of a particular
environment and way of life. Interestingly, just 12 countries account for 60 percent of all human languages.
seven of these are also among the "mega diversity" countries that contain more than half of all unique plant
and animal species. Conditions that support evolution of many unique species seem to favour development of
equally diverse human cultures as well.
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The most appropriate title for the passage is:

. State of the indigenous world

. Biodiversity conservation measures

. Indigenous people and world's biodiversity
. Empowerment of indigenous people.

(1) 1

(2) 2

(3) 3

(4) 4
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Read the following passage and answer the question.

In both rich and poor countries, native or indigenous people are generally the least powerful, most neglected
groups in the world. Typically descendants of the original inhabitants of an area taken over by more powerful
outsiders, they are distinct from their country's dominant language, culture, religion, and racial communities.
Of the world's nearly 6.000 recognized cultures, 5,000 are indigenous ones that account for only about 10
percent of the total world population. In many countries, traditional caste systems, diseriminatory laws,
economics, or prejudice repress indigenous people. Their unique cultures are disappearing, along with
biological diversity as natural habitats are destroyed to satisfy industrialized world appetites for resources.
Traditional ways of life are disrupted further by dominant Western culture sweeping around the globe.

At least half of the world's 6.000 distinct languages are dying because they are no longer taught to children.
When the last few elders who still speak the language die, so will the culture that was its origin. Lost with
those cultures will be a rich repertoire of knowledge about nature and a keen understanding of a particular
environment and way of life. Interestingly, just 12 countries account for 60 percent of all human languages.
seven of these are also among the "mega diversity" countries that contain more than half of all unique plant
and animal species. Conditions that support evolution of many unique species seem to favour development of
equally diverse human cultures as well.
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Given below are two statements:

Statement-I: Majority of indigenous cultures are confined to a very few countries of the world.
Statement-IT: Majority of world population consists of indigenous people.
In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement I is false
4, Statement I is false but Statement II is true

(1) 1

(2) 2

(3) 3

(4) 4
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Read the following passage and answer the question.

In both rich and poor countries, native or indigenous people are generally the least powerful, most neglected
groups in the world. Typically descendants of the original inhabitants of an area taken over by more powerful
outsiders, they are distinet from their country's dominant language, culture, religion, and racial communities.
Of the world's nearly 6.000 recognized cultures, 5,000 are indigenous ones that account for only about 10
percent of the total world population. In many countries, traditional caste systems, discriminatory laws,
economics, or prejudice repress indigenous people. Their unique cultures are disappearing, along with
biological diversity as natural habitats are destroyed to satisfy industrialized world appetites for resources.
Traditional ways of life are disrupted further by dominant Western culture sweeping around the globe.

At least half of the world's 6.000 distinct languages are dying because they are no longer taught to children.
When the last few elders who still speak the language die, so will the culture that was its origin. Lost with
those cultures will be a rich repertoire of knowledge about nature and a keen understanding of a particular
environment and way of life. Interestingly. just 12 countries account for 60 percent of all human languages.
seven of these are also among the "mega diversity" countries that contain more than half of all unique plant
and animal species. Conditions that support evolution of many unique species seem to favour development of
equally diverse human cultures as well.
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Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R:
Assertion-A : Indigenous people live in harmony with nature.

Reason R: Biodiversity tends to thrive at places where indigenous cultures thrive.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both A and R are correct and R is the correct explanation of A.

. Both A and R are correct but R is not the correct explanation of A.
. A is correct but R is not correct.

. A is not correct but R is correct.

(1) 1

(2) 2

3) 3

(4) 4
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Read the following passage and answer the question.

In both rich and poor countries, native or indigenous people are generally the least powerful. most neglected
groups in the world. Typically descendants of the original inhabitants of an area taken over by more powerful
outsiders, they are distinet from their country's dominant language. culture, religion, and racial communities.
Of the world's nearly 6.000 recognized cultures, 5,000 are indigenous ones that account for only about 10
percent of the total world population. In many countries, traditional caste systems, discriminatory laws,
economics, or prejudice repress indigenous people. Their unique cultures are disappearing, along with
biological diversity as natural habitats are destroyed to satisfy industrialized world appetites for resources.
Traditional ways of life are disrupted further by dominant Western culture sweeping around the globe.

At least half of the world's 6,000 distinct languages are dying because they are no longer taught to children.
When the last few elders who still speak the language die. so will the culture that was its origin. Lost with
those cultures will be a rich repertoire of knowledge about nature and a keen understanding of a particular
environment and way of life. Interestingly, just 12 countries account for 60 percent of all human languages.
seven of these are also among the "mega diversity" countries that contain more than half of all unique plant
and animal species. Conditions that support evolution of many unique species seem to favour development of
equally diverse human cultures as well.
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Which among the following inferences can be drawn from the passage?

A. Indigenous people in rich countries are generally neglected and their voices remain unheard.
B. Native people in the poor countries are quite powerful.

C. Most of the world population belongs to indigenous cultures.

D. Indigenous people possess unique cultures

E. Indigenous cultures are facing a threat from western culture.

Choose the most appropriate answer from the options given below:

1.A,B,C,Dand E
2.A.C.Dand E only
3.A,Dand E only
4.B.C,D and E only

1) 1

) 2

(3) 3

(4) 4
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Read the following passage and answer the question.

In both rich and poor countries, native or indigenous people are generally the least powerful, most neglected
groups in the world. Typically descendants of the original inhabitants of an area taken over by more powerful
outsiders, they are distinet from their country's dominant language, culture, religion, and racial communities.
Of the world's nearly 6.000 recognized cultures, 5,000 are indigenous ones that account for only about 10
percent of the total world population. In many countries, traditional caste systems, discriminatory laws,
economics, or prejudice repress indigenous people. Their unique cultures are disappearing, along with
biological diversity as natural habitats are destroyed to satisfy industrialized world appetites for resources.
Traditional ways of life are disrupted further by dominant Western culture sweeping around the globe.

At least half of the world's 6.000 distinct languages are dying because they are no longer taught to children.
When the last few elders who still speak the language die, so will the culture that was its origin. Lost with
those cultures will be a rich repertoire of knowledge about nature and a keen understanding of a particular
environment and way of life. Interestingly. just 12 countries account for 60 percent of all human languages.
seven of these are also among the "mega diversity" countries that contain more than half of all unique plant
and animal species. Conditions that support evolution of many unique species seem to favour development of
equally diverse human cultures as well.
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Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R:
Assertion-A : Western culture supports indigenous people and their traditional ways of life.

Reason R: Indigenous people possess ecological wisdom about their natural habitat.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A.
2. Both A and R are correct but R is not the correct explanation of A.
3. A s correct but R is not correct.
4. A is not correct but R is correct.
(1) 1
(2) 2
3) 3
(4) 4
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